CIS 3362 Homework #3

Chapter 4: Classical Polygraphic Ciphers

Due: Tuesday, 10/3/06 

Note: This is a group assignment. Each pair of students should turn in one write-up in class on the due date. Both students' names should clearly be at the top of the front page of the assignment. Students may also turn in the assignment by themselves if they do not wish to have a partner.

Decode the following ciphertexts. Please use the CAP tool, and in your write-up, describe the steps you took and why you took them in decrypting the ciphertext. At the end of your description, reveal the full matching plaintext.

1) (Playfair) nciuctunhdefalamsmdrymeymuoiqmiufimprmnupyctmeynuzrlbmknmbt

bwkhcuhrmbtidnakftmkanshublbttmnrzirlhursmealqtdkltrngshddtgosfgbkdakanmamxrmmylgqomruozmtokicttmouqhmyifuzytweqsdtkaicsqdrctospddhwnziudchmymfxlkfcntfumrmbmcmfgpfypqciumeutrmmnbaoqtbalquruoiutgomyrbkmbarlzxduhgdahgakantuiurnkmrqctrnmadampypbaakgsmxrlpmmuxliucnkacsmytmhgybibgsmlkzmyluhdhlsmxeoikmfmqscgkarcqudkltrngsmcdlnrcndupybt (Hint: The message begins, "dearestalice".)
2) Encipher the message "HAVEANICEDAY" using the Hill cipher and the encryption key 
[image: image1.wmf]÷

÷

ø

ö

ç

ç

è

æ

14

5

5

2

. Please do NOT use CAP because I think their code for this is buggy. Either do it by hand or write your own program to do it. Express the ciphertext in letters.
3) Determine the inverse of the matrix 
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, mod 26. Prove that this is the inverse by multiplying your result by 
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 to obtain 
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